S

=
-
-

.” S




Stage 1 - Floor

i E ceANrun v o v s IR G dik AR A A o
Al L '
B . ( A
L 5 H :, T &
3] )
4 1. . q
| Caamt ,
g : icunm)
f L “ '
| 2 E . g
| B S R S e A v
T! Floor 8 (2) Fleor C (2) floor A (2}
_ Stage 2 - walls
A
Door Header (1) .
Qutside
ﬁ—xm"".&‘_.:_.uﬁ i i Py Corner
T B I Support {4}
. g . ---[:":I— £y B
L W £ MEZ‘_':I——- o . ¥
Front Walls Commen A s
(1{-1R} Walls (12) Inside Wall
Corner Brace (4)

Stage 5 = Doors

Upper Door Frame

Threshold
Side Door Frame wsssssmmammmammmn &
Left Door ¢ %M
Stop A i
Storm

Right _
& feft -
Dear
Hinges sooeey

Door
Handle Kit

Left Door {1) 7 Right Door (1}

Stage 3 - Gables
% Gable Vent (2)

D Mﬂ:‘\ﬁ
: . . \ -
@; . i . ..h‘b
Gables(4}
g M_...........t-—-—-'-w-‘ T
Aluminum Beam (1)

Wall Cap (2)

Stage 6 - siding

%abie Trim (5\\

Upper Daor
Trim (2} .
Upper Side
Trim {2}
Cornes Trim
M I
il
f ]t ]
{ 1 i |
£  Jj SO |
% [t !
! 1 i
i k|
1
! {

=

Ridge Cover (2}

P g

P [
- T 7o
Ridge Cap Splice {1) \*‘ Ridge End (2)

Siding Panels

Stage 4 - Roof

Roof B (2) Roof € (2} Roof A {2}

Wall Cap {2)
Truss Upright B —=seocommm.
Small Truss A
| P18 I —

Long Truss €

o
-
2 -4
B3
B
'S
L%




Tahle of Contents

Door Assembly -
Stage 4
Stage1 floor...............c.ccoiin 4 Requires that the Window focation options
& Level or
Stage2 Walls............................ 6
Stage3 Gables......................... 10
Staged Roof.................coiiiinl 14
Stage 5 Doors 18 Door location
Stage6 Siding.......................... 24 Door
tag 1ang Requires ﬁlatlhee'
Floor is Flat & Lew
Stage 7 Securing Shed To Base.... 28

Shed Assembly Tools Required: Phillips head screwdriver or electric screwdriver, Drill Bits -1/8"- 1/4”- 3/8", Level,
Molded Wrench Tool or Socket Wrench, 7/16” & 9/16"wrendhes, Small rubber mallet

116" & 9116
Wrenches

Motded Wrench
supplied with Shed

1/8"-1/4"-318"

Stage 1 rioor

o N s fan

Ty

™ (30)- 1/4"x2" Coarse Thread
’ q
. [ 1 ‘
. j El
. Al ] - : . Tools Needed:
B 3
b :
B - ¥ .L}E i; u N N j E L.}.. " © .L.l
Floor A (2} Floor C (2) Floor B {2}

Homestyles.

oedeles yfx@ﬁ,ﬁ@




H
;
!
[

Floor Assembly

{30)- 1/4"x2"
{oarse Thread

peadon siage




Stage 2 walils

Door Header (1)

E £ 3 g
] omano 1 m'm-— ! 1
I S ﬂ"'—'ni‘t'—l‘ | i
L iem b =l = B = i ..gm._@_.m&

Front Walls Common Window
f1L-1R) Walls (12} Wall {1}
- —— Outside
Inside Wali B e =1 | L:.X 1 L1 Corner
Support {4)

Corner Bracket (4)

Fastener Bag "C"

Fastener Bag "B”
I3

I

«1\
jfé}}i% (54)- 318"-T-Nut

(2)- 1/4°-20 Nut  (2)- 1/4"x2 Wall Stud (D Molded Wreach 3!85‘5)( 314" (54 1-3/8"
Assembly supplied with Shed HexBolt  Flat Washer
A { B Sl

. . 28 (6)- 1/4" %314 (2)- 14"x2"
(26)- 114" x 1-1/47 Coarse Thread 1/4"{Wa)sher Pan Head Truss Head

Tools Needed:

a:‘_:‘_”;*:-:,{j@

116" Wreach

118"
Drill
Bit

Molded Wrench
supplied with Shed

Homestyles.

m{a‘é% svrage




Wall Assembly

Place Left & Front Corner

7

Tighten until! nut is

Front Wall Stud
Assembly

flush with floor

6

Panels

Common Wall Panel

Left Front
Wail Panel

(2)- 114" x 2 Wall Stud Assembly

Do Not Overtighten

Molded Wrench
supplied with Shed

Place Corner Supports

i

318" X 314"
Hex Bolt

38"
T-Nut

318"

styles.

Detrony %f{.’)’lﬁgﬁ

{)}fﬁeS

dr
i

flat
Washer




Place remaining Three Corner Panels
9 Secure Corner Supports

[ TRy A )

; .
W »; E.;jm,,‘f,
& . , RV
8 38" X 314 o .
wn Hex Bolt 38" 318
Flat T-Nut

Washer

Molded Wrench
supplied with Shed

Place Six {6) Walls and
10 One(1) Window Wali into
Position

Window
Wall

Window can be installed
in either location.

Warning Siding Is
Specifically Cut To
Accomidate Either Of
These Two Window
Locations Only!

Secure Wall to Wall
1"

4 ER |

Homestyles Handyman Hint ]
i apall 357 THuts it hole . ¢ :
s mm s iserting hex Lol Emalii il e —E ; S ;
| ; L o . :
ye X3 M ) WL ‘ i, ?
Hex Bolt 33" 318 . : 1l :
Flat ~ T-Not =GR i
Washer ) hh ’ AL
1 i
j i g= = ; ' /
HMolided Wrench .
supplied with Shed Do Not Overtighten

Homestyles.

" pedileen sége




(26)- Y4" x 1-147
Coarse Thread

Secure Wall
12 | oroor

28
o 14 Washer

13 Attaching Front & Rear Corner Brackets and Door Header

Front Corner Brackets

Attach one side of
front comner biacket to
door header. Attach the
other side of bracket
tothe walt 1-1/47
back from the edge of
wall pocket, Pre drill
1/8" hole then fasten. Door
Repeat for other front | Header
corner hracket.

R

Voome 1k
Truss Head

Rear Corner Brackets \

Place rea1 comer
bracket 1" down from
ton of wall and 3/8”

. from edoe of wal
pocket and pre-r Homestyles Handyman Hint:
18" hole, Attach to
wall one side at 3 time,
Repeat for other rear
coener bracket.

1

. L

{6} 174"x 3147
Pan Head

e ol ey

Homestyles.

aeladney %’%’?‘Mg/glﬂ




Stage 3 Gables 1
/

T

é];‘/ * * Gable Veat (2)

Gable (4) P y
Wall Cap (2)

Q;‘ . I S ——— ) |

Aluminum Beam {1} (6) 112" x 12 3/4" Bolt
Located in Fastener Master bag

Fastener Bag "D”

ey aae 3w (12)- #10 - 1* Pan Head
- ¥ - - - an Hea
Hex Bolt “’F,:{8 w3 Phillips (20)- 1/4" x 3/4" Truss Head
Washer

Tools Needed:

Molded Wrench
supplied with Shed

Assemble Gable Ends

Homestyles Handyman Hint:

snap afl 38" 1uts ino ho'e
pricl 1o insesting hes bolt,

\/'!
werx Y )
Hex Boit 38" 348

Flat  T-Nut

Washer

Molded Wrench
upplied with Shed

y Homestyles.

PulEoes séthage




Attach Vent

(12-$10-1"
Par Head Phillips

Homsestyles
Handyman Hint

Position Two (2)

16 Wall Caps front &
Rear with access holes

toward the interior

" Sl ned ey i 20

lomestyles.

puddons SEDUGE




Position, But Do Not Fasten
17 the Two (2) Wall Caps (Front

& Rear) With Access Holes
Toward The Interior

Front Walf Cap
First Inside Hole
(Right Side Shown

Fifth Hole

Rear Wall Cap First
Inside Hole
{Right Side Shown)

Align with
Fifth Hole

Homestyles.

oecltipos s{aGe
&




Position Assembied Gahles
on Front and Rear Walls

19

4

Eep
By
27

(20)- 174" x 3147

Truss Head

20

(6}-

= |
i

A~
|

12 % 123:41
EOHS i A

j

|

Slide (6)- 12-3/4" Bolts into Place
from the End of the Aluminum Beam

Secure Gahles to Walls

Homestyles
Handyman Hint:
‘\"{A':"" U Iy ’), :,: k

Slide beam into place on gable ends

. " Homestyles.

oudalben storage




Stage 4 roof

1
|

]
1
|
[
i
I
|

P WV I

L1

Roof A (2) Roef C (2}

Wall Cap (2)

Roof - Truss -
A‘é}:’;‘:&-\ “A” Small Truss (6) Fastener Bag "E

“B” Truss Upright (6) ' i%(";}( ;,‘;2 T:z:sv?{esad (6)- Acorn Nut

{16)- Roof to Roof
1/4"x 3/4" Truss Head

¥ C" Long Truss (6) Truss to Roof U
- ] T, {H)-14" x1-114"
Truss Head

Tools Needed:

g
Molded Wrench
supplied with Shed

Homestyles.
Culiney sirige




Wall Cap

Position Two {2) Wall Caps
Left and Right (Window
Side) with access holes
toward the interior

21

e )

Place Roof Panels

22

L toA

Right Side Roof Panels
START Front to Rear

{eft Side Roof Paneis
START Rear to Front

B( toA

tyles.

pufions Worwns

wind Argsibiiiny smaels 20

11ies

i

E



ol R ey

Roof to Walls
(16)- 1/4"x 14"
Truss Head

Fasten Roof Panels to Walls

[ e

N

N

N

EN
rt‘- . ‘%‘

Repeat for other side.

" Roof to Roof
(16} 114" x 34"
Truss Head

24 Roof Panel to Roof Panel

LiTT

o

Repeat for other side.
Do Not Overtighten

Homestyles.

D P




Push Truss Components ¢
25 A.B,C on to 12-3/4” Bolts '

y Hint

Homestyles

12-3/4" Bolt |,

“&" small Truss (6) ~—.

Push Truss Components
WAW'IIBN:NcM
on to 12-3/4" Belt

{6)- Acorn Nut

26 Truss to Roof Attachment Points

Truss to Roof
(24)-114"x1- 114"
Truss Head

Do Not Overtighten

Homestyles.

pedines storage




Stage 5 Doors

Threshold {1)

Upper door Frame {1) Side Boor frame

_ {1R -11)
{2)- 1/2"-0.D. Bronze

Bushing Stage

Upper Hinge
{6)- 1/4" x 1 1/4""Truss Head

"'.%'as_té:ne'r;'sag

Support (3}

Door Hinge Upper (2}

- : Doaor Handle Kit
Left Door Stop (1) Door Left (1) Door Right (1}

38" . (32)- #104% (9)- #10-112" (4]- #10-1/2"
N(,Sf,féfas,',z,",?ﬁ Tgilzk Countersunk Phillips Pan Head Phillips Self Drilling Pan Head

Tools Needed:

118" & 318"

' Homestyles.

maé‘mm § 277 g




27

Slide Upper Hinge Supports into
Upper Door Frame Approximately
6" but DO NOT ATTACH.

Upper Hinge
Support {2)

28

Place Upper
Door Frame into

pasition on the
Header

29

Secure Upper Door Frame
to the Header

(6)- 1/4 x 314"
Pan Head Phillips

Do Not Overtighten

Homestyles.

suldoon stvinge




s e L
.Jh.ﬂ.ﬂ”fi!l{i T Rym
= s
- =g N
e P e .
L1 H 1] 4 W e
oAt ¥ S
| i #
|4 |t
- | 1t K\Rk
& |
o
i1 | L™
T3 T
B gl I
| ST
|t .-
_..ssl‘!s..!.!l.\n
RIS o o N
2 E‘v..l..l;x.).ll:

| 1 Lt
e

e SEE X o ST N
@ @& Mgt AN
& - SRR R e
O oy mTw [ 5
= o205 - ;m -
|9 s - i
=0 foud o] |
a [0 o f&w
- = o Ui ) e Bl S
W Ta b
L5 - = = - e
= o - T
[~ W - ~ S = P
[, f-.f“
Toomd

77

34
T;’." A
|
f[
e,
v
i

sy

tyles.
coddocts séchage

Truss Head

(6)- 14" x 1-1/4

mes

i
T

=3
=
8=
W
@
=3
Y
v Y
- — s
- o £ = [ -
= o .2 : ¥ o
= e - = 8
CE S - o = = g™
O e * [~ a
B = R W] g oy - @
=gz =zag =x LE= 5 e
ekt 88 Le= @9
O e O O X D-nm = Sw

30
31
33




Left Door

Pasition
Door

Stop over
pre-marked
holes.

Secure with
Nine (9)
#10-1/2" Pan
Kead Screws

(8)- $10-1/2"
Pan Head

i |

Position Hinge on
Lower OQutside of Door

P
i

7 =
I )
o ‘ 4

Slide door
into Hinge

Position Upper
Hinge into Upper
Hinge Support

Position Hinge Lower Outside of Doors

Secure Hinge to
Door Seguence

s align with

& 5" pre-marked holes
s

i sisoa bae s

{8)- Hinge
#10-1"Countersunk

Align Quter Edge of Door
with inside of Hinge

Door

38

B Sudie ek dienbtfit ucde aniy

Nylon Washer to
Bottom Hinge Pin

les.

DHEHBOR séouige

Position Lower
Hinge into Threshold
Hinge Bushing

TN

N
R

1 over ea. Hinge Pin

3/8" 1D x 5/8" 0D Mylon

Washer 118" Thick




Secure Hinge to Door Sequence

Homestyles
Handyman Hint:

¥ (8)- Hinge
#10-1"Countersenk

Door Alignment
40 Secure Door Hinge Support in
Close doors Perpendicular Position

(4)- #10-1/2" Seif
Tapping Pan Head

Té attach Storm Chain

Storm Chain

a1

Position Storm Chain e

Bracket over pre-marked
pilot holes both doars, to Door Header-
g% : Measure 18" from door
Secure with four (4) pan head %E 1 frame, mark holes and
screws supplied with Storm SRR predrill with 1/8" drill bit
Chain Kits bl then attach with four (4)

Pan Head Screws supplied

Hé&}eﬁt}desm with Storm Chain Kit.

Ll EE stoliage




42 Left Side Door Bolts Upper & Lower

Pasition Upper and Lower
Daor Bolts over pre-marked
holes in Left door

Secure with Four {4) each
#10-1" Pan Head Screws

ATy
DY

4 ea.
#10-1" Pan Head

Door Handle
43

Handle Hardware
(see instructions

inside hox}

Hint

Homestyles Handyman Hint:

et ]

Homest

S e

tyles.

oudoen oG

Push left door closed
and hold tight
with door bolts,
{upper and fower)
i position, push
bolt against surface
and mark, Drill 3/8"
access hole for bolt.




Stage 6 Siding

Upper Door Trim (1)

709 L, Tes
Corner tim (i I LS il |

785 184
Dogr Trim (1} L Door Trim {1} K

Y Bagof375
N Mylon Fasteners

//m\ 78 (2)

Siding Panels 161 (2) 760 (2)
—
756 {1} i}’w 3 157 (13
152(22) [ — mue— I
765{2) ¢ I
S S— C
mo —= | o
763 (1)
759 (1) e 1 | \} 758 (1)

Ridge Cover (2)
Ridge Cap Splice {1} % Y—“7 Ridge Cap (2}
e

Homestyles
Handyman Hint: Loezlée d:

Butt and
Clamp

Cement

Homestyles.

oRiFEOY PG




731
Gable Trim R

780
Gable Trim L

E

=

Lo,
ETI
€ o=
L=

o
[ Y
L
= 2
nnS
o
s =
o 2
[ =

Fal|
Upper Side Trim

44

m
Upper Side Trim

180
Gable Trim L

Uppeg Door

785
Door Trim L

Door Trim R

Secure with Nylon Fasteners every 127 -16”"

Homestyles
Handyman Hint:

iiigy rand aosy

lomestyles.
osldlpeh AL

45




Siding
Starter Row

T - / Starter Row
; g e Attaches to Guides at Base

Position ,
Starter Row =5

il

Bottom Starter Row -
ALL SIDES - Shide-Into Place

47 Secure with Nylon Fasteners
Approzimately every 127-16"

[ 4 Secure with Nylon

L
% Nylon Fasteners Fasteners

Position Corner 708
48 Trim Approximately g Corner Trim
every 12°-16"

769
Corner Trim ‘1

¥
P i e |

Secure d
with Nylon .
Fasteners N

! 108
{i Corner Trim

B s Ay e ney

omestyles.

Quedelrey stptage




49

Siding Sequence

Pyt

e yeal s

Window Side

764
154
154
1534
152
152
752

765

755

755 }

AR g S SN I WL - I S

155 ¢

T —— LS

SRIARIANIRA RN RN AN

Starter Row

Front 75/3_1& -
51 ] E 18
750 E E_ET_.‘J 150
750 E g 750
750 m E 750
150 ] /= 150
(LT —— /] 7150
T s— /] 150
150 ) E— 70
750 o] E—
150 § ] Starter Row p—
Rear 761
761 T \756

%6 ¥ 760

751 ' 1752

752 It L 751

751 ] — 152

752 | - 151

51 - I 152

152 ¢ -t L 751

751 | } 752

752 i e—1

751 = 11752

Starter Row

Left Side 765
¢ =
152 ¢t —
752} |
752 | ]
52 ¢ !
751 | |
152 | ]
152 | ;

752

Starter Row

S af dureddiity macds sty

pufroen o

tyles.

?&?f/ﬁ@




Roof Ridge Cover Sequence

Align Ridge Covers aver Center Beam

Snap Fit

Press to
Snap
into
Place

Apply PVC

Cement over

Ridge Cover e
Position Ridge
Cap.Holdin ™™

position until
Cement is set.

SR h:ghly recommendeé to attach your
- shed to your base {wood or concrete) for
_-added wind resistance.

- f;:_Use holes provided in floor for
attachment. {fasteners not included). <=

. Frintedt in the USA - US Fence #34104823 Rev, B 03108



